
◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗

e1+i =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗

e1−i =?



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗

e1+iπ =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗

❆❞♦(( ❛③ f (z) = 2z ❧❡❦!♣❡③!/✱ ♠✐ ❧❡/③ ❛
D = {z : |z| = 1} (❛3(♦♠4♥② ❦!♣❡❄

f (D) =?



◆!✈✿✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗

▼✐ ❛ ❢)❣❣✈!♥② ❦❛♥♦♥✐❦✉0 ❛❧❛❦❥❛❄

f (z) = Re (z)

❱❛❥♦♥ ❞✐✛❡8❡♥❝✐:❧❤❛<=✲❡❄

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

▼✐ ❛ ❢)❣❣✈!♥② ❦❛♥♦♥✐❦✉0 ❛❧❛❦❥❛❄ ❱❛❥♦♥

❞✐✛❡8❡♥❝✐:❧❤❛<=✲❡❄

f (z) = z2



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

❧♥(−1) =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

i1−i =?



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

sin(i) =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

cos(i) =?



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

❆❞♦(( ❛③ f (z) = z̄ ❧❡❦!♣❡③!/✱

D = {z : Im (z) > 0}✳

f (D) =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

❧♥(1 + i) =?



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

❧♥(1− i) =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

❧♥(−i) =?



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗−

(1 + i)i =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗−

i1−i =?



◆!✈✿✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗−

❱❛❥♦♥ ❞✐✛❡.❡♥❝✐0❧❤❛34✲❡❄

f (z) = y3 − 3x2y + i
(

x3 − 3xy2
)

◆!✈✿✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗−

▼✐ ❛ ❢9❣❣✈!♥② ❦❛♥♦♥✐❦✉> ❛❧❛❦❥❛❄

f (z) =
1

z

❱❛❥♦♥ ❤♦❧ ❞✐✛❡.❡♥❝✐0❧❤❛34❄



◆!✈✿✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗

▼✐ ❛ ❢)❣❣✈!♥② ❦❛♥♦♥✐❦✉0 ❛❧❛❦❥❛❄

f (z) =
1

z + 1

❱❛❥♦♥ ❤♦❧ ❞✐✛❡9❡♥❝✐;❧❤❛<=❄

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗

f (z) =
1

z
❧❡❦!♣❡③!0✱

D = {z : 0 < Re (z)}✳

f (D) =?



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗

❆❞♦(( ❛③ f (z) =
1

z
❧❡❦!♣❡③!/✱ !/ ❛

D = {z : Re (z) < 0}

(❛1(♦♠3♥②✳

▼✐ ❧❡/③ ❛ (❛1(♦♠3♥② ❦!♣❡✱ f (D) =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗

❆❞♦(( ❛③ f (z) = (1 + i)z ❧❡❦!♣❡③!/✱

!/ ❛ D = {z : Im (z) > 0} (❛1(♦♠3♥②✳

▼✐ ❧❡/③ f (D) =?



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗

❆❞♦(( ❛③ f (z) = −iz − 1 ❧❡❦!♣❡③!/✱

!/ ❛ D = {z : |z| < 1} (❛1(♦♠3♥②✳

▼✐ ❧❡/③ f (D) =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗

❆❞♦(( ❛③ f (z) = (−1 + i)z ❧❡❦!♣❡③!/✱

!/ ❛ D = {z : |z| < 1} (❛1(♦♠3♥②✳

▼✐ ❧❡/③ f (D) =?



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗

❆❞♦(( ❛③ f (z) = (−1 + i)z ❧❡❦!♣❡③!/✱

!/ ❛ D = {z : |z| > 1} (❛1(♦♠3♥②✳

▼✐ ❧❡/③ f (D) =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗+

❆❞♦(( ❛③ f (z) = 1 + iz ❧❡❦!♣❡③!/✱

!/ ❛D = {z : Re (z) > 0, 0 < Im (z) <
2} (❛1(♦♠3♥②✳

▼✐ ❧❡/③ f (D) =?



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗∗

❆❞♦(( ❛③ f (z) =
1

z
❧❡❦!♣❡③!/✱

!/ ❛ D = {z : Re (z) > 1} (❛1(♦♠3♥②✳

▼✐ ❧❡/③ f (D) =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗−

▼✐ ❛ ❢9❣❣✈!♥② ❦❛♥♦♥✐❦✉/ ❛❧❛❦❥❛❄ ❱❛❥♦♥

❞✐✛❡1❡♥❝✐3❧❤❛(B✲❡❄

f (z) = z + 1



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

❱❛❥♦♥ ❞✐✛❡.❡♥❝✐0❧❤❛34✲❡❄

f (z) = ex(cos(y)− i sin(y))

✭✰ ▼✐ ❛ ❢;❣❣✈!♥② ❦♦♠♣❧❡① ❛❧❛❦❥❛❄✮

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

▼✐ ❛ ❢;❣❣✈!♥② ❦❛♥♦♥✐❦✉D ❛❧❛❦❥❛❄ ❱❛❥♦♥

❞✐✛❡.❡♥❝✐0❧❤❛34✲❡❄

f (z) = z3



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗−

▼✐ ❛ ❢)❣❣✈!♥② ❦❛♥♦♥✐❦✉0 ❛❧❛❦❥❛❄ ❱❛❥♦♥

❞✐✛❡8❡♥❝✐:❧❤❛<=✲❡❄

f (z) = 1− iz

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗+

▼✐ ❛ ❢)❣❣✈!♥② ❦❛♥♦♥✐❦✉0 ❛❧❛❦❥❛❄ ❱❛❥♦♥

❞✐✛❡8❡♥❝✐:❧❤❛<=✲❡❄

f (z) = |z|



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗−

❍❛'♠♦♥✐❦✉.✲❡❄

u(x, y) = 2x(1− y)

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗−

❍❛'♠♦♥✐❦✉.✲❡❄

u(x, y) = 2x− x3 + 3xy2



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗

❍❛'♠♦♥✐❦✉.✲❡❄ ❍❛ ✐❣❡♥✱ ♠✐ ❛ ❤❛'♠♦♥✐✲

❦✉. 56'.❛❄

u(x, y) = sh (x) sin(y)

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗−

❍❛'♠♦♥✐❦✉.✲❡❄ ❍❛ ✐❣❡♥✱ ♠✐ ❛ ❤❛'♠♦♥✐✲

❦✉. 56'.❛❄

v(x, y) = ex sin(y)



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗−

❍❛'♠♦♥✐❦✉.✲❡❄ ❍❛ ✐❣❡♥✱ ♠✐ ❛ ❤❛'♠♦♥✐✲

❦✉. 56'.❛❄

u(x, y) = ex cos(y)

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗

❍❛'♠♦♥✐❦✉.✲❡❄ ❍❛ ✐❣❡♥✱ ♠✐ ❛ ❤❛'♠♦♥✐✲

❦✉. 56'.❛❄

v(x, y) = − sin(x)ch (y)



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗+

▼✐❧②❡♥ C ♣❛-❛♠!/❡- ❡0❡/!♥ ❧❡0③ v(x, y)
❡❣② ❛♥❛❧✐/✐❦✉0 f (z) ❢6❣❣✈!♥② ❦!♣③❡%❡&

'!&③❡❄

v(x, y) = Cx2 − y2 + 2y

f ′(i) =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗+

▼✐❧②❡♥ C ♣❛-❛♠!/❡- ❡0❡/!♥ ❧❡0③ u(x, y)
❡❣② ❛♥❛❧✐/✐❦✉0 f (z) ❢6❣❣✈!♥② ✈❛❧+& '!✲

&③❡❄

u(x, y) = Cx2y − y3

f ′(1) =?



◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗∗

■❣❛③♦❧❥❛✱ ❤♦❣② v ❡❣② ❛♥❛❧✐2✐❦✉5 f (z) ❢7❣❣✲
✈!♥② ❦!♣③❡%❡& '!&③❡ ✿

v(x, y) = ch (x) cos(y)

❆ z0 = i ♣♦♥2❜❛♥ f ′(z0) =?

◆!✈✿ ✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳✳

∗∗∗

■❣❛③♦❧❥❛✱ ❤♦❣② u ❡❣② ❛♥❛❧✐2✐❦✉5 f (z) ❢7❣❣✲
✈!♥② ✈❛❧+& '!&③❡ ✿

u(x, y) = (x− 2)(y + 1)

❆ z0 = i ♣♦♥2❜❛♥ f ′(z0) =?


